- 1. (6 points per part)
 - (a) Find parametric equations for the line of intersection of the planes 2x y + 3z + 4 = 0and -x + y - z = 0.



2. (4 points per part) Consider the curve given by the position function $\mathbf{r}_1(t) = \langle \ln(t), t^2 + 5, 3t \rangle$ for t > 0.

 $\begin{array}{l} \textbf{DEPIV} \quad (a) \text{ Find the curvature at } t = 1. \\ +1 \begin{cases} \vec{r}_{1}'(4) = \langle \frac{1}{4}, 24, 3 \rangle \rightarrow \vec{r}_{1}'(1) = \\ \vec{r}_{1}''(4) = \langle -\frac{1}{4}, 24, 3 \rangle \rightarrow \vec{r}_{1}''(1) = \\ \vec{r}_{1}''(4) = \langle -\frac{1}{4}, 2, 0 \rangle \rightarrow \vec{r}_{1}''(1) = \\ (-1, 2, 0) \end{cases} \\ \vec{r}_{1}'(4) \times \vec{r}_{1}'(4) = (6-6)\vec{t} - (0-3)\vec{s} + (2-2)\vec{k} \\ = \langle -6, -3, 4 \rangle \\ = \langle -6, -3, 4 \rangle \\ = \langle -6, -3, 4 \rangle \\ \end{cases} \\ \begin{array}{c} \textbf{K}(1) = \frac{\sqrt{364 + 9 + 16}}{(\sqrt{14 + 49})^{3}} = \frac{\sqrt{61}}{(\sqrt{14})^{3}} \approx 0.149098 \\ \textbf{K}(1) = \frac{\sqrt{364 + 9 + 16}}{(\sqrt{14 + 49})^{3}} = \frac{\sqrt{61}}{(\sqrt{14})^{3}} \approx 0.149098 \\ \textbf{K}(1) = \frac{\sqrt{61}}{(\sqrt{14})^{3}} = \sqrt{61} \\ \textbf{K}(1) = \frac{\sqrt{61}}{(\sqrt{14})^{3}} \\ \end{array}$

(b) Find the (x, y, z) point on the curve at which the tangent line is orthogonal to the plane x + 8y + 6z = 7. WANT $\vec{r_1'/b} = \langle \frac{1}{b}, 2b, 3 \rangle$ To BE PARAMEL TO $\langle 1, 8, 6 \rangle$ $\langle \frac{1}{b}, 2b, 7 \rangle = k \langle 1, 8, 6 \rangle$ $\Rightarrow \frac{1}{b} = k$ zt = 8k zt = 8k $z = 6k \Rightarrow k = \frac{1}{2}$ WANT POINT ON CURVE WHEN t = 2 $\Rightarrow \vec{r_1'}(2) = \langle 1n(2), (2\vec{r} + \vec{s}, 3(2)) \rangle$ (x, y, z) = (1n(2), 9, 6)

(c) Find the **acute** angle of intersection of $\mathbf{r}_1(t)$ with the curve $\mathbf{r}_2(u) = \langle 0, u^3 - u, \sqrt{u^2 + 5} \rangle$

(Give your answer rounded to the nearest degree.)

$$+2 \begin{cases} \text{INITER SECTION: } (0 \mid n \mid 1 = 0) \\ 0 \mid n \mid 1 = 0 \end{cases} = 1 \\ (3 \quad 3t = \sqrt{u^{2} + 5} = u^{3} - u \\ (3 \quad 3t = \sqrt{u^{2} + 5} \rightarrow 3 = \sqrt{u^{2} + 5} \end{cases} = \sqrt{u^{2} + 5} \\ (3 \quad 3t = \sqrt{u^{2} + 5} \rightarrow 3 = \sqrt{u^{2} + 5} \\ (3 \quad 3t = \sqrt{u^{2} + 5} \rightarrow 3 = \sqrt{u^{2} + 5} \\ (3 \quad 3t = \sqrt{u^{2} + 5} \rightarrow 3 = \sqrt{u^{2} + 5} \\ (3 \quad 3t = \sqrt{u^{2} + 5} \rightarrow 3 = \sqrt{u^{2} + 5} \\ (3 \quad 3t = \sqrt{u^{2} + 5} \rightarrow 3 = \sqrt{u^{2} + 5} \\ (4 = u^{2} - u^{2} + 2 - u^{2} + 5) \\ (4 = u^{2} - u^{2} + 2 -$$

Math 126, Winter 2024 **Final Examination** Page 3 of 8 3. (6 points per part) Consider the function $f(x, y) = x^2 + xy^2 - y$. (a) Find all the saddle point(s) of f in \mathbb{R}^2 . Justify your answer. $f_x = 2x + y^2 = 0 \implies 2x = -y^2$ $f_y = 2xy - 1 = 0 \iff -y^3 - 1 = 0 \Rightarrow y = -1$ cr. p+ $(-\frac{1}{2}, -1)$ x = - $\frac{1}{2}$ fxx=Z $D(x,y) = f_{xx}f_{yy} - f_{xy}^2 = 4X - (zy)^2$ $D(-\frac{1}{2},-1) = -2 - 4 < 0 \implies \text{saddle } p + 1$ fyy=2X $f_{xy} = 2y$ $(-\frac{1}{2},-1)$ Saddle point(s): (b) Let D be the closed region bounded by $x = y^2$ and x = 1. Find the absolute maximum and absolute minimum values of the function f on the region D, and the points where these extrema occur. From (a), f has cr pt @ (-±,-1), which is not in D. On the boundary of D: · parabola X=y= f(X,y)=f(y,y)=y+y+y $g_{1(y)} = 2y^{4} - y$, $y \in C - 1, 1J$ $g_{1}(y) = 8y^{3} - 1 = 0 \Rightarrow y = \frac{1}{2}$ $f(z_1, z_2) = g_1(z_2) = z_2 - z_2 = -z_2^2$ $f(1, 1) = g_1(1) = 2 - 1 = 1$ $f(1,-1) = g_1(-1) = 2+1=3$ • line k=1 $f(x,y) = f(1,y) = 1+y^2-y$ 92(g)=1+y2-y yEE-1.17 (end pts checked) $g'_{z}(y) = 2y - 1 = 0 \Rightarrow y = \frac{1}{2}$ $f(1, \pm) = g(\pm) = \frac{3}{4}$ Absolute (global) maximum on D: f(-1), -(-1) = 3Absolute (global) minimum on $D: f(\frac{1}{4}, \frac{1}{2}) = -\frac{3}{8}$

4. (12 points) Consider the surface x² - (y + 1)² - 3z² = 2.
Find the point(s) on the surface that are closest to the point A(0,3,1).
For full credit, you must show work to justify your answer.

minimize: $d = \sqrt{(X-0)^2 + (Y-3)^2 + (Z-1)^2}$ Lowstraint: $\chi^2 - (y+1)^2 - 3t^2 = 2$ $\Rightarrow \chi^{2} = 2 + (y + 1)^{2} + 3 = 2^{2}$ Substitute $f(x,y,z) = d^{2} = k^{2} + (y-3)^{2} + (z-1)^{2}$ $\mathcal{G}(y_1,z) = 2 + (y_{+1})^2 + 3z^2 + (y_{-3})^2 + (z_{-1})^2$ since (y, z) EIR on the surface, domain of g(y, z) has no boundary The abs. min must occur at critical pt $9y = 2(y+1) + 2(y-3) = 4y - 4 = 0 \Rightarrow y = 1$ $g_{2} = 67 + 2(7 - 1) = 87 - 2 = 0 \Rightarrow 7 = \frac{1}{4}$ $\chi^{2} = 2 + (4 + 1)^{2} + 3 + 2^{2}$ $=2+4+\frac{3}{12}=\frac{99}{12}$ =) X=± 199

Closest point(s): $(\cancel{1}, \cancel{4}, \cancel{1}, \cancel{4})$

Math 126, Winter 2024

2

2=1

Final Examination

x=2, x=-1

5. (6 points per part) The parts of this question are not related.

y=1/2

(a) The region D is bounded above by the curve $y = \frac{1}{x}$, below by the line $y = \frac{1}{2}(x-1)$ and to left by the line x = 1.

Set up the integral $\iint_D f(x, y) dA$ using two different orders of integration. You may have to split the region. $\frac{1}{2}(\chi - 1) = \frac{1}{\chi} \xrightarrow{\rightarrow} \chi^{\perp} - \chi = 2$ $\chi^{\perp} - \chi = 2$ $\chi^{\perp} - \chi - 2 = 0$ $(\chi - 2)(\chi + 1) = 0$ リ=シーン()

> $ray: \frac{1}{12} \int_{2} f(x,y) dy dx$ $ray: \frac{1}{12} \frac{1}{2} f(x-1) \int_{1} \frac{1}{2} f(x-1) \int_{1} \frac{1}{2} \frac{1}{2} f(x-1) \int_{1} \frac{1}{2} \frac{1}$ One way: Another way: _ D 1/2

(b) Evaluate
$$\int_{0}^{1} \int_{y^{4}}^{\sqrt{y}} (\sqrt{x} - y^{2}) dx dy$$
.

$$= \int_{0}^{1} \frac{2}{3}\chi^{3/2} - \chi y^{2} \Big|_{y^{4}}^{y^{4}} dy = \int_{0}^{1} (\frac{2}{3}y^{3/4} - y^{5/2}) - (\frac{2}{3}y^{6} - y^{6}) dy$$

$$= \int_{0}^{1} \frac{2}{3}\chi^{7/4} - \chi y^{2} \Big|_{y^{4}}^{y^{4}} dy = \int_{0}^{1} (\frac{2}{3}y^{3/4} - y^{5/2}) - (\frac{2}{3}y^{6} - y^{6}) dy$$

$$= \int_{0}^{1} \frac{2}{3}\chi^{7/4} - \chi y^{2} \Big|_{y^{4}}^{y^{4}} dy = \int_{0}^{1} (\frac{2}{3}y^{3/4} - y^{5/2}) - (\frac{2}{3}y^{6} - y^{6}) dy$$

$$= \int_{0}^{1} \frac{2}{3}\chi^{7/4} - \chi y^{2} \Big|_{y^{4}}^{y^{4}} dy = \int_{0}^{1} (\frac{2}{3}y^{3/4} - y^{5/2}) - (\frac{2}{3}y^{6} - y^{6}) dy$$

$$= \int_{0}^{1} \frac{2}{3}\chi^{7/4} - \chi y^{2} \Big|_{y^{4}}^{y^{4}} dy = \int_{0}^{1} (\frac{2}{3}y^{3/4} - y^{5/2}) - (\frac{2}{3}y^{6} - y^{6}) dy$$

$$= \int_{0}^{1} \frac{2}{3}\chi^{7/4} - \chi y^{2} \Big|_{y^{4}}^{y^{4}} dy = \int_{0}^{1} (\frac{2}{3}y^{6} - y^{6}) dy$$

Answer:

Final Examination

6. (12 points) Find the volume of the region that is inside the ellipsoid $x^2 + y^2 + 4z^2 = 25$ and above the cone $z = \sqrt{x^2 + y^2}$.



Volume = _

- 7. Let $f(x) = \sqrt{(2x+1)^3}$.
 - (a) (6 points) Find the second Taylor polynomial $T_2(x)$ for f based at b = 4.
 - $f(x) = (2x+1)^{3/2} \qquad f(4) = 27$ $f'(x) = 3(2x+1)^{1/2} \qquad f'(4) = 9$ $f''(x) = 3(2x+1)^{-1/2} \qquad f''(4) = 1$

$$T_{2}(x) = \frac{27 + 9(x - 4) + \frac{1}{2}(x - 4)^{2}}{2}$$

(b) (3 points) Use your answer to part (a) to approximate $\sqrt{9.1^3}$.

$$\int 9.1^{3} = \int (2(1.05)+1)^{3} \approx T_{2}(1.05) = 27+9(.05) + \frac{1}{2}(.05)^{2}$$

$$9.1 = 2 \times +1$$

$$x = 4.05$$

$$\sqrt{9.1^{3}} \approx 27.45125$$

(c) (5 points) Use Taylor's inequality to find an upper bound (as sharp as possible) for the error in your approximation in part (b).

 $|f'''(x)| = |-3(2x+1)^{-3/2}| = \frac{3}{\sqrt{(2x+1)^3}} \qquad \text{max when denom. is Smell} (x=4)$ On interval [4, 4.05] use $M = \frac{3}{\sqrt{9^5}} = \frac{1}{9}$ $|T_2(x) - f(x)| \le \frac{1}{6}M|x-4|^3 = \frac{1}{6}\frac{1}{9}(.05)^3 = \frac{1}{432000}$ Upper bound: $\frac{1}{432000}$

8. For this problem, let
$$f(x) = x \sin(x^4) + \frac{x^2}{4 - x^3}$$
.

(a) (6 points) Find $T_{10}(x)$, the 10th Taylor polynomial for f based at b = 0. $Sinx = \sum_{k=0}^{\infty} \frac{(-1)^k x^{2k+1}}{(2k+1)!}$ $1 = \sum_{k=0}^{\infty} x^k$ $1 = \sum_{k=0}^{\infty} x^k$ $1 = \sum_{k=0}^{\infty} x^k$ $1 = \sum_{k=0}^{\infty} \frac{x^k}{4^{k+1}}$ $1 = \sum_{k=0}^{\infty} \frac{x^k}{4^k}$ $1 = \sum_{k=0}^{\infty} \frac{x^k}{4^k}$ $1 = \sum_{k=0}^{\infty} \frac{x^k}{4^k}$ $1 = \sum_{k=0}^{\infty} \frac{x^k}{4^k}$ $1 = \frac{x^2}{4} + \frac{x^5}{16} + \frac{x^9}{4^k} + \frac{x^1}{4^k}$ $1 = \frac{x^2}{4} + \frac{x^5}{16} + \frac{x^9}{4^k} + \frac{x^1}{4^k}$ $1 = \frac{x^2}{4} + \frac{x^5}{16} + \frac{x^9}{4^k} + \frac{x^1}{4^k}$ $1 = \frac{x^2}{4} + \frac{x^5}{16} + \frac{x^9}{4^k} + \frac{x^1}{4^k}$ $1 = \frac{x^2}{4} + \frac{17}{16} x^5 + \frac{x^9}{64}$

(c) (5 points) Find $f^{2024}(0)$. (That is, the 2024th derivative of f at 0.) Give an exact answer.

Look for
$$x^{2024}$$
 terms in T. settles.

$$\sum_{k=0}^{\infty} \frac{(-1)^{k} x^{8k+5}}{(2^{k+1})!} \rightarrow 8^{k+5} = 2024 \rightarrow 8^{k} = 2019 \rightarrow ho x^{2024}$$
 term (no int. k)

$$\sum_{k=0}^{\infty} \frac{x^{3k+2}}{4^{k+1}} \rightarrow 3^{k+2} = 2024 \rightarrow 3^{k} = 2022 \rightarrow k = 674$$

$$\frac{x^{2024}}{4^{675}} = \frac{f^{(2024)}(0)x^{2024}}{2024!}$$

$$f^{(2024)}(0) = \frac{2024!}{4^{675}}$$